a) Find the Thevenin’s circuit for the circuit shown in Fig.5.1 similar to the circuit shown in Fig.5.2.
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b) Calculate the output voltage for different load resistors and the corresponding power and enter these values in Table 1:
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c) Plot a graph of load resistance vs power using Matlab 7 (use semilog format as shown in Fig.5.3). Find the load resistance corresponding to the maximum power.
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(use the following Matlab script to plot the graph)

% Define your load voltage and load resistance vectors here as vl and rl

vl =[ 

];

rl =[ 

];

% calculate power by the following formula

pl=vl.*vl./rl;

figure(1)

semilogx(rl, pl);

title('Maximum Power Transfer Analysis')

xlabel('Load Resistance (Ohms)');

ylabel('Power (milli watts');

grid

% You can drag the legend with the mouse to a desirable place

d) For each value of RL in Table 1, calculate the circuit efficiency using the formula:
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